Bloc moteur Bermixer Pro

[ ]
ReplCode Deésignation / Description D I to Saj ] ]a
ltem] PNC

1 | 005225 | Cabochon jew de 10/3topper set of 10
2 | Voir 31 | see 51/Capot supérieur/Upper cover
3 | voir 54 | Carter inférieur/Lower casing
4 | 005228 | HRoue codeuse/Encoder wheel
5 | 0D5229 | Ventilateur/Fan
6 | Voir 33 | see S3MoteurMiotor
T | 005230 | ChoisondPartition
8 | 005220 | Accouplement femelle (lot)/Female coupling(set)
9 | 00Y786 | Flasque/Flange
10 | 005232 | Bride/Flange
11 | 005233 | Vis Tomc 180 14583 M4x16 jeu de 10/
Screw Torx IS0 14583 M4x16 set of 10
12 | 005234 | Tapis ondulé/Corrugated mat
13 | 005235 | Vis PT Torx jeu de 10/Screw PT Tore setof 10
14 | voir 54 | Carter supérieur/Upper casing
15 | 005237 | Lot de bouchons/Set of plugs
16 | 005238 | Vis C M3x25 jeu de 1lllSirew C M3x25 =etof 10
17 | 005239 | Bride de cable jeu de 5/Cable flange set of 5
18 | 002918 | Vis PT WM 1442 K30x8 jeu de 10/
Screw PTWHN 1442 K30xB sat of 10
19 | 005240 | Passe fil jeu de 5/Grommet set of 5
20 | Voir 85 | Voir 85/Cordon alim  Power cable
21 | ODET85 | Variateur Mariator / 350W 115V

005783 | Variatewr Marigtor / 350W 230V
005784 | Variateur pression manuelle Nariator
manual pressure [ 350W 230V
0DE634 | Variateur double »clice - 350W-2200/
Double «clics variator 3500W-220
Q05788 | Variateur [ Variator [ 4500 115V
QDSTBG | Variateur [ Variator [ 4500 Z30V
005787 | Variateur pression manuelle Mariator
manual pressure [ 450W 230V
0DE635 | Variateur double «Clice - 450W-2200/
Double «clice variator 4500W-220Y
005791 | Variateur [ Variator / S50W 115Y
QD579 | Variateur [ Variator [ 5500 Z30V
005730 | Variateur pression manuelle [ Variator
manual pressure / S50W 230V
0DE638 | Variateur double «Clics - SR0W-2200/
Double «clics variaior 50220V
0057a4 | Variateuwr [ Variator [ GBOW 115V
Q0572 | Variateur [ Variator [ GEOW Z30V
0D&Y93 | Variateur pression manuelle [ Variator
manual pressure [ 660w 230v
006Ea7 | Variateur double eclice - BEOW-220WY
Double sclice variaior BEOW.220Y
DOT364 | Variatour [ Variator [ TE0W 115Y
0O7365 | Variateur [ Variator [ 7E0W 230V
007366 | Varigteuwr pression manuelie [ Varialor
manual pressure { 750W 230V
007367 | Variatour double eclice - THOW-2200)
Double «clice variator TH0W-220Y
22 | ODB297 | Support mural / Wall bracket

81 | 005226 | Capot supéricur équip&Upper cover assombly
52 | 005241 | Lol de boulons de commande’Sed of control buttons
23 | 005243 | Moteur équipd | Motor assembly [250W 230V
005244 | Moteur équipd Motor assembly [ 440W 230V
005245 | Moteur équipd / Motor assembly / 550W 230V
005246 | Moteur équipd / Motor assembly /860 230V
Q07368 | Motour équipd / Motor assembly / TH0W 230V
005247 | Moteur dquipd / Molor assombly £ 350W 115V
005248 | Moteur dquipd / Motor assembly /450W 115V
Q05835 | Motour dquipdMotor assembly [ S50W 115V
0D5826 | Moteur dquipdMotor assembly [ BEOW 115V
Q07368 | Moteur dquipd/Motor assembly [ THOW 115V
24 | 005242 | Lot do caners blow / Blue sot of casings
Q007185 | Lot do carters gris / Groy set of casings

85 | 000725 | Cordon alim, Standard /Standard power cable
0DO734 | Cordon alimentation USMJS power cablo
001503 | Cordon alimentation UK/UK power cable
002386 | Cordon alimentation CHIGH power cable

26 | 006812 | Charbon motour (jeux@NOriving coal (saix2)




